
Math 110, 111 Practice Quiz # 5 – Sections 3.1 – 3.3
Intro to Linear Equations, Solving Linear Equations, Formulas

1. Determine which of the given numbers is a solution of the equation.

- 4(3 – x) = 4(2 – x): -1, 10


2. Rental car company A charges $30 per day and $0.15 per mile. Rental car company B charges $40 per day and $0.10 per mile. 
a. Write the expressions representing the cost of renting a car for one day from each company. 

b. Use your graphing calculator to estimate at how many miles would the cost of renting a car from company A equal that of renting a car from company B, both for one day.


3. Solve the equation and state whether it is an identity, an inconsistent equation or a conditional equation
a. 6x – 2 + 4x = 3x + 5




b. ½ (x – 2) + ¾ ( x + 1) = (x – 5)


c. 2 + 4[5 + (2x + 1)] = 3x + (5x + 2)


d. 3x – 5 = 2 + 4x – (x + 7)



e. 2x + 
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4. Solve for the given variable.

a. 2x + y = 10. Solve for y..


b. -5x + 3y = 6. Solve for y.


c. V = 
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. Solve for b.


5. The equation D = 0.01 x + 1.20 models the number of students who have or will receive bachelors degrees. D is in millions and x represents the number of years since 2000. Use the model to predict in what year will 1.4 million students receive bachelors degrees.
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